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H2OFH

Maj Dep Syn if answers to #2a or b and five or more of #2a-i are at least “More than half the days” (count #2i if present at all).
Other Dep Syn if #2a or b and two, three, or four of #2a-i are at least “More than half the days” (count #2i if present at all).

FOR OFFICE CODING: Som Dis if at least 3 of #1a-m are “a lot” and lack an adequate biol explanation.
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FOR OFFICE CODING: Pan Syn if all of #3a-d are “YES’ and four or more of #4a-k are ‘YES'. Other Anx Syn if #5a and answers to three or

more of #5b-g are “More than half the days”.
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FOR OFFICE CODING: Bul Ner if #6a,b, and-c and #8 are all ‘YES’; Bin Eat Dis the same but #8 either ‘NO’ or left blank. Alc Abu if any of #10a-e is ‘YES'.
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